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p, a, b, c

m × n

L(m,n)

L(4, 4) = 62

L(n, n) =
1

2
[f(n, 1)− f(n, 2)],

f(n, k) =
∑

−n<x<n
−n<y<n

(x,y)=k

(n− |x|)(n− |y|).

http://www.survo.fi/demos/index.html#ex80
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n − 1

L(n, n)−L(n− 1, n) L(n− 1, n)−L(n− 1, n− 1)

L(n, n)

L(n, n) = 2L(n− 1, n) + L(n− 1, n− 1) +R1(n)

R1(n)

L(n, n)

L(n − 1, n) L(n − 1, n − 1)

n = 2, 3, . . . , 23

R1(n)

n − 1

0 n

n

R1(n)

n = 3, 4, . . . , 23

L(n, n) L(n − 1, n)

L(n − 1, n)

L(n−1, n) = 2L(n−1, n−1)+L(n−2, n−1)+R2(n),

R2(n)

L(n, n) = 2L(n− 1, n)− L(n− 1, n− 1) +R1(n),

L(n− 1, n) = 2L(n− 1, n− 1)− L(n− 2, n− 1)

+R2(n),

R1(n) = R1(n− 1) + 4(ϕ(n− 1)− e(n))

e(n) =




0, n

ϕ((n− 1)/2) n
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R2(n) =





(n− 1)ϕ(n− 1) n

(n− 1)ϕ(n− 1)/2 n ≡ 1 ( 4),

0 n ≡ 3 ( 4)

L(0, 0) = L(0, 1) = R1(1) = 0

L(n, n) n

n = 15000

n = 40000 L(n, n) = 583610033692337762

L(n, n) = [3/(2π)]2n4 +O(n2.5).

L(n, n)

L(n, n) = [3/(2π)]2n4 +O(n2.5+ϵ) ϵ > 0
′

1011

n2.5

L(m,n)

L(n, n)

http://www.survo.fi/papers/DevLn2015.png
http://www.survo.fi/demos/index.html#ex6
http://www.survo.fi/demos/index.html#ex80
http://www.survo.fi/papers/LinesInGrid2.pdf
http://www.survo.fi/papers/PointsInGrid.pdf
http://link.springer.com/article/10.1007%2Fs00605-010-0236-6
http://www.survo.fi/papers/DevLn2015.png
http://www.survo.fi/papers/PointsInGrid.pdf#page=27
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